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1. The shortest distance of a point on the graph of y = /= to the point (4,0) is equal to
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3. All the inflection points of the graph of f{z) = z* — 62? occur at
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4. Find the lower sum Lg{P) for f % dx where P = {1,3,41}.
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5. Let G(x) = f sin(t*)dt. Then G'(1) = A 3sinl
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7. For what value of k can the following integral be evaluated direetly using a substitu-

tion.
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8. True-false: a statement is false unless true in all situations.

a. At a local maximum of a continuous function f we have f'(x) = 0.
Falke . I.a.fﬁ“"iﬁ[ Y has a

loeal waax at x=0 M;rt’ﬂl7k

dets nol et
b. If f'{x) > 0 on (a,b) the graph of f is concave up.
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g, Compnte the following integrals
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10. Give the arca between the graph of f(z) = ? and the x axis for 3 <x<2asa
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11. In the hoxes indicate the substitutions to allow the integrals below to be integrated
directly. Do not integrate. (9 points)
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12. Sketch the graph of f(x) = In(e® + 27%). Find first and second derivatives and all
relative extrema, intervals where graph is concave up and where concave down, and
puints of inflection. (11 points)
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